S=18 км=1,8·104 м 
Vср=54 км/ч=15 м/с

t1=2 мин=120 с

t3=1 мин=60 с

Vm - ?

[image: image1.wmf]3

2

1

3

2

1

t

t

t

S

S

S

V

ср

+

+

+

+

=

                                (1)


[image: image2.wmf]2

2

1

1

1

2

1

1

1

t

V

t

V

a

t

a

S

m

m

=

=

=

=

                  (2)


[image: image3.wmf]2

2

t

V

S

m

=

                                              (3)

[image: image4.wmf]2

2

3

3

3

2

3

3

3

t

V

t

V

a

t

a

S

m

m

=

=

=

=

                (4)


[image: image5.wmf]S

S

S

S

=

+

+

3

2

1

                                   (5)

  Из (1)       
[image: image6.wmf]60

120

10

8

.

1

15

2

4

+

+

×

=

t



[image: image7.wmf]мин

c

t

20

1200

2

=

=


Из (5) 
[image: image8.wmf]4

10

8

.

1

2

60

1200

2

120

×

=

×

+

×

+

×

m

m

m

V

V

V



[image: image9.wmf]ч

км

с

м

V

m

/

50

/

14

»

»


_1362466643.unknown

_1362466806.unknown

_1362467010.unknown

_1362467199.unknown

_1362466857.unknown

_1362466743.unknown

_1362465182.unknown

_1362466550.unknown

_1362465063.unknown

